## PROCUREMENT COMPARATIVE QUOTES SCHEDULE

450.00				2,640.00				TOTAL PRICE	XX	CKITCKIA
Compliant	Compliant	Compliant	Compliant	Compliant	Compliant			TAX CLEARANCE	EVALUATION	EVAL
PRAZ-2024-823- CEE-903	PRAZ-2024-256-EDX- 4638	PRAZ-2024-734- ANI-8670	PRAZ-2024-365- DMQ-4547	PRAZ-2024-824- SOM-401	PRAZ-2024-941-PWL-276			PROOF OF PRAZ REGISTRATION	QUOTATION	QUO
	Quality)				Quality)					
1,400.00	892.00 (Inferior	1,400.00	1,400.00	1,360.00	800.00 (Inferior		40	Golf T-shirts	•	
450.00	549.00	450.00	690.00	3,000.00	750.00		300	Branded pens	•	
2,400.00	0/S	1,440.00	1,472.00	1,280.00	1,519.05		16	Executive Blazers	•	ы
(USD\$)	(usp\$)	(¢asu)	(USD\$)	(vsp\$)	(USD\$)	7	1			
Total price	Total price	Total price	Total price	Total price	Total price	S	QTY	SUPPLY AND DELIVERY OF:	SUPPLY	NO.
	1/4	א/נ	P/L	P/L						
BLEFRED P/L	ESTYLE TRADING	FULLSPRING	BRAND	MAPNET	PROMRUN P/L					

DATE 1010512024

Kindly avail a total amount of USD2,640.00 to Mapnet Trading P/L and USD\$450.00 to Blefred P/L as payment for World Tobacco Expo Promotional Materials.

### RECOMMENDATIONS:



IPR	N	ما	0	F	+	١	5	5				i							
11 1.4	7 11	IV.	 			·			• •			•	 6	0 1	٠				

SERIAL NO. NO

0415

### **INTERNAL PURCHASE REQUISITION**

(Full description of item/service must be given or requisition will be returned)

QUANTITY	UNIT	DESCRIPTION OF GOODS OR SERVICES	EST/BUDGETED UNIT PRICE	ALLOC/NOTE APO
40	MA CONTRACTOR	Branded Solf T-Shirts		
13		Executive black blazers		
300		Branded pens		
50		Self adhesive posters		
		1,5 X 3 M PVC billboard		
1		Stand designing and Setting up		
5 00		Business cards		

certify that these goods/services are required for he purpose of	DELIVER TO
ne purpose of	REQUIRED DATE(Normal Emergency)
REQUESTED BY: 4 (SIGN)  TILE PUBLIC Affairs Officer (SIGN)	APPROVED BY: (SIGN) TITLE (SIGN)
	(Head of Division/Dept)
RECEIVED BY	25-04-7074

460

**Organization Name** 

PROMRUN HOLDINGS fidelity Life Towers 5 Raleigh St Harare Zimbabwe

					Address Email	
				Item No	ress il	
	ω	2	1-3		pro pro	-
	53102700 Uniforms	44121702	53102700 Uniforms	UNSPSC Code	promrunprinters@yahoo.com	,
	Uniforms	44121702 Pen or pencil sets	Uniforms	Lot Name		
	Golf T-	Pen(branded)	Blazers Executive	Lot Description Qua		
	40	300	13	Quantity UOM		
	40 Each	300 Each	3 Each	MOU		
	20	2.5	95	Unit Price		
Total = 2785.0000	800	750	1235	Total Rate		







This is to certify that **PROMRUN HOLDINGS(PR9942341827)** is registered with the Procurement Regulatory Authority of Zimbabwe in terms of section 4 of the Public Procurement and Disposal of Public Assets(PPDPA) (General) Regulations, 2018 for category:

**Corporate Wear(GC009)** 

Issued On	26-Jan-2024
Expires On	31-Dec-2024
Varification Code	PRAZ-2024-941-PWL-276

The Procuring Entity reserves the right to confirm, validate and determine the authenticity of this certificate using the above verification code on the eGP System.

PRAZ PROCUREMENT REGULATORY AUTHORITY CE ZUMBAR WE

PRAZ PROCUREMENT SEGULATORY AUTHORITY OF ZIMBABWE

PRAZ PROCUREMENT REGULATORY AUTHORITY OF ZUMBABUE

PRAZ PROCURIEMENT REGULATORY.
AUTHORITY OF ZIMBASIWE



PROCUREMENT RESULATORY AUTHORITY OF ZIMBARWE

PRAZ PROCURFMENT REGULATERY OF AUTHORITY OF



PROCUREMENT REGULATORY AUTHORITY OF ZIMBASWE





# TAX CLEARANCE CERTIFICATE (ITF263)



Your Tax position is Satisfactory. No tax should be withheld Validity Period (from-to): 25 March 2024 - 30 May 2024

TIN 2000764291

Taxpayer Name PROMRUN INVESTMENTS

Trade Name: Promrun Investments (Pvt) Ltd

**Issued on:** 25/03/2024

**Authentication Code: 47137075** 

The authentication and validity of this certificate must be validated on ZIMRA page: mytaxselfservice.zimra.co.zw. using the Authentication Code or QR Code



460

Organization Name Mapnet Trading
Address 1 Beit Milton Park
Email ppmapeka@gmail.

ppmapeka@gmail.com

Total = 5400.0000							
1360	34	40 Each	40	Golf T-shirts(branded)		53102700 Uniforms	3
3000	10	300 Each	300	Pen(branded)	44121702 Pen or pencil sets	44121702	2
1040	80	13 Each	13	Blazers Executive	Uniforms	53102700 Uniforms	1
Total Rate	UOM Unit Price	MOU	Quantity	Lot Description	Lot Name	UNSPSC Code	Item No







This is to certify that **Mapnet Trading(PR6518629869)** is registered with the Procurement Regulatory Authority of Zimbabwe in terms of section 4 of the Public Procurement and Disposal of Public Assets(PPDPA) (General) Regulations, 2018 for category:

### **Corporate Wear(GC009)**

Issued On	08-May-2024
Expires On	30-Jun-2024
Verification Code	PRAZ-2024-825-SON-401

The Procuring Entity reserves the right to confirm, validate and determine the authenticity of this certificate using the above verification code on the eGP System.

PRAZ

PRAZ

PROCURITMENT REGULATORY AUTHORITY DE ZIMBANWE

PRAZ REGULATORY DE ZIMEASANI



PROCUMEMENT REGULATORY AUTHORITY OF ZIMPASWE

PRAZ PROCURE MENT AUTHORITY OF ZIMBABWE









# TAX CLEARANCE CERTIFICATE (ITF263)



Your Tax position is Satisfactory. No tax should be withheld Validity Period (from-to): 1 January 2024 - 30 June 2024

TIN 2000066411

Taxpayer Name MAPNET TRADING

Trade Name: Best Foods

**Issued on:** 26/01/2024

**Authentication Code: 47098708** 

The authentication and validity of this certificate must be validated on ZIMRA page:mytaxselfservice.zimra.co.zw using the Authentication Code or QR Code



460

Semedik Trading (PRIVATE)

Organization Name Address Email Limited T/A /Brand Impressions

166 Long Cheng Plaza Belvedere freedomevans01@gmail.com

	1						
 Item No	UNSPSC Code	Lot Name	Lot Description   Quai	Quantity	MOU	Unit	Total Rate
 1	53102700 Uniforms	Uniforms	Blazers	13	.3 Each	92	1196
 2	44121702	44121702 Pen or pencil sets	Pen(branded)	300 Each	Each	2.3	690
 3	53102700 Uniforms	Uniforms	Golf T-	40	40 Each	35	1400
							Total = 3286.0000





This is to certify that Semedik Trading (PRIVATE) Limited T/A /Brand Impressions (PR675700715) is registered with the Procurement Regulatory Authority of Zimbabwe in terms of section 4 of the Public Procurement and Disposal of Public Assets(PPDPA) (General) Regulations, 2018 for category:

### Signage and Branding Services(SS001)

Issued On	03-Apr-2024
Expires On	30-Jun-2024
Verification Code	PRAZ-2024-608-GQA-4547

The Procuring Entity reserves the right to confirm, validate and determine the authenticity of this certificate using the above verification code on the eGP System.



PROGULEMENT BEGULATORS BUT FORCE OF STANDARD CO.







# TAX CLEARANCE CERTIFICATE (ITF263)



Your Tax position is Satisfactory. No tax should be withheld Validity Period (from-to): 1 January 2024 - 30 June 2024

TIN 2000616816

Taxpayer Name SEMEDIK TRADING

Trade Name: Semedik Trading (Pvt) Ltd

Issued on: 04/01/2024

**Authentication Code: 47056456** 

The authentication and validity of this certificate must be validated on ZIMRA page:mytaxselfservice.zimra.co.zw using the Authentication Code or QR Code



460

**Organization Name** 

Address FULSPRING BRANDS
95 NELSON MANDELA AVENUE,

fulspringbrands@gmail.com

Email

Total = 3020.0000							
1400	35	40 Each	40	Golf T-		53102700 Uniforms	3
450	1.5	300 Each	300	Pen(branded)	44121702 Pen or pencil sets Pen(branded)	44121702	2
1170	90	13 Each	13	Blazers Executive		53102700 Uniforms	1
Total Rate	antity   UOM   Unit Price	MOU	Quantity	Lot Description	Lot Name	UNSPSC Code	Item No







This is to certify that **FULSPRING BRANDS(PR16702323058)** is registered with the Procurement Regulatory Authority of Zimbabwe in terms of section 4 of the Public Procurement and Disposal of Public Assets(PPDPA) (General) Regulations, 2018 for category:

### **Corporate Wear(GC009)**

Issued On	29-Jan-2024
Expires On	31-Dec-2024
Varification Code	PRAZ-2024-734-ANI-8670

The Procuring Entity reserves the right to confirm, validate and determine the authenticity of this certificate using the above verification code on the eGP System.























# TAX CLEARANCE CERTIFICATE (ITF263)



Your Tax position is Satisfactory. No tax should be withheld Validity Period (from-to): 1 January 2024 - 30 June 2024

TIN 2001868472

Taxpayer Name FULSPRING BRANDS

**Trade Name:** 

Issued on: 23/04/2024

**Authentication Code: 47135629** 

The authentication and validity of this certificate must be validated on ZIMRA page: mytaxselfservice.zimra.co.zw using the Authentication Code or QR Code



460

Organization ESTYLE

W1 Westmall

Address

Westgate Complex

Email

estylecomp@gmail

Item No	UNSPSC Code	Lot Name	Lot	Qua	UOM	Unit Price	Total Rate
1	53102700	Uniforms	Blazers	13	Each	0	0
2	44121702	Pen or pencil	Pen(branded)	300	Each	1.83	549
3	53102700	Uniforms	Golf T-	40	Each	22.3	892
							Total = 1441.0000







This is to certify that **ESTYLE CORPORATE GIFTS(PR44020120755)** is registered with the Procurement Regulatory Authority of Zimbabwe in terms of section 4 of the Public Procurement and Disposal of Public Assets(PPDPA) (General) Regulations, 2018 for category:

### **Printing Services(SP006)**

Issued On	06-Apr-2024
Expires On	30-Jun-2024
Verification Code	PRAZ-2024-147-BWS-4638

The Procuring Entity reserves the right to confirm, validate and determine the authenticity of this certificate using the above verification code on the eGP System.

PRAZ PROCUREMENT REGILEATORIES AND ANTHORIES AND ANT

PRAZ PROCURTIMENT NESSILATORY AUTHORITY DE ZOMBARIYE

PRAZ PROCURENANT MEEULATORS AUTHORITY OF ZIMBARWE

PRAZ PAOCUREMENT RECULATORY AUTHORITY DE ZIMBAS WE



PRAZ REGULATORY AUTHORITY.OF

PRAZ REGULATORY AUTHORITY OF ZIMBARWE









# A V CI E A D A NICE CEDTIEIC ATE (ITE26)





TIN: 2000703909

Taxpayer name: Estyle Corporate Gifts And Branding

Trade Name: Estyle Corporate Gifts And Branding

Issued on: 01/01/2024

**Authentication Code: 47053868** 

The authentication and validity of this certificate must be validated on ZIMRA page: mytaxselfservice.zimra.co.zw\_using the Authentication Code or QR Code



460

Organization

Blefred P/L

Address

61 Central

Email

blefred7@gmail.

Item No	UNSPSC Code	Lot Name	Lot	Quantity	UOM	Unit Price	Total Rate
1	53102700	Uniforms	Blazers	13	Each	150	1950
2	44121702	Pen or	Pen(brand	300	Each	1.5	450
3	53102700	Uniforms	Golf T-	40	Each	35	1400
							Total = 3800.0000







This is to certify that **Blefred P/L (PR442618198)** is registered with the Procurement Regulatory Authority of Zimbabwe in terms of section 4 of the Public Procurement and Disposal of Public Assets(PPDPA) (General) Regulations, 2018 for category:

### **Corporate Wear(GC009)**

Issued On	30-Jan-2024
Expires On	31-Dec-2024
Varification Code	PRAZ-2024-823-CEE-903

The Procuring Entity reserves the right to confirm, validate and determine the authenticity of this certificate using the above verification code on the eGP System.























# TAX CLEARANCE CERTIFICATE (ITF263)

Your Tax position is Satisfactory. No tax should be withheld

Validity Period (from-to): 1 January 2024 - 30 June 2024

**TIN** 2001028787

**Taxpayer Name BLEFRED** 

Trade Name: Blefred (Pvt) Ltd

**Issued on:** 25/01/2024

ZIMRA reserves the right to withdraw this certificate at any time, should it become necessary during the period for which this certificate is valid



**Authentication Code: 47097121** 

The authentication and validity of this certificate must be validated on ZIMRA page: mytaxselfservice, zimra, co, zw. using the Authentication Code or QR Code

